
1 2 3 4 5 6 7 8 9 10 11 12

1 दूध मे गाय 67 0 13 80 0 0 10 3 0 67

2 शुʺ गाय 74 0 10 84 0 0 6 9 0 69

3 ŮिशƗण हेतु 19 0 0 19 0 0 0 7 0 12

4 औसर 117 0 0 117 0 0 7 7 0 103

5 मादा बǄे 40 4 0 44 0 0 1 0 0 43

6 सांड बछड़े 9 0 0 9 0 0 0 8 0 1

7 नर बǄे 2 0 0 2 0 0 0 0 0 2

328 4 23 355 0 0 24 34 0 297

1 दूध मे गाय 0 0 0 0 0 0 0 0 0 0
2 शुʺ गाय 0 0 0 0 0 0 0 0 0 0
3 ŮिशƗण हेतु 0 0 0 0 0 0 0 0 0 0
4 औसर 2 0 0 2 0 0 0 0 0 2
5 मादा बǄे 9 0 0 9 0 0 0 0 0 9
6 नर बǄे 0 0 0 0 0 0 0 0 0 0
7 सांड बछड़े 0 0 0 0 0 0 0 0 0 0

11 0 0 11 0 0 0 0 0 11

1 नर बǄे 0 0 0 0 0 0 0 0 0 0
2 मादा बǄे 1 0 0 1 0 0 0 0 0 1

1 0 0 1 0 0 0 0 0 1

1 दूध मे गाय 13 0 2 15 0 0 4 1 0 10
2 शुʺ गाय 26 0 4 30 0 0 6 12 0 12
3 ŮिशƗण हेतु 3 0 6 9 0 0 0 0 0 9
4 औसर 33 0 4 37 0 0 3 3 0 31
5 मादा बǄे 11 1 0 12 0 0 2 0 0 10
6 नर बǄे 6 2 0 8 0 0 3 0 0 5
7 सांड बछड़े 2 0 3 5 0 0 0 4 0 1

94 3 19 116 0 0 18 20 0 78

1 दूध मे गाय 5 0 3 8 0 0 1 0 0 7

2 शुʺ गाय 8 0 1 9 0 0 1 1 0 7

3 औसर 12 0 0 12 0 0 2 0 0 10

4 मादा बǄे 20 5 0 25 1 0 0 0 0 24

5 नर बǄे 7 5 0 12 0 0 0 0 0 12

6 सांड बछड़े 0 0 0 0 0 0 0 0 0 0

52 10 4 66 1 0 4 1 0 60

1 शुʺ गाय 2 0 0 2 0 0 0 0 0 2

2 मादा बǄे 9 0 0 9 0 6 0 0 0 3

3 नर बǄे 9 1 0 10 0 0 0 0 0 10

20 1 0 21 0 6 0 0 0 15

506 18 46 570 1 6 46 55 0 462

1  गाय @ghQj 11 23 0 34 0 0 0 0 13 21
2 सांड @cSy 8 8 0 16 0 0 0 0 0 16

19 31 0 50 0 0 0 0 13 37

1  गाय /@ghQj 8 15 0 23 0 0 0 0 0 23
2 सांड @cSy 7 4 0 11 0 0 0 0 0 11

15 19 0 34 0 0 0 0 0 34

1 गाय @ghQj 2 0 0 2 0 0 0 0 2 0
2 सांड @cSy 1 0 0 1 0 0 0 0 0 1

3 0 0 3 0 0 0 0 2 1

1 गाय @ghQj 2 1 0 3 0 0 0 0 0 3
2 सांड @cSy 0 0 0 0 0 0 0 0 0 0

2 1 0 3 0 0 0 0 0 3
39 51 0 90 0 0 0 0 15 75

545 69 46 660 1 6 46 55 15 537
* TWH - TRANSFER WITHIN THE HERD.

mRrjk[k.M i'kq/ku fodkl ifj"kn ¼;w-,y-Mh-ch-½ 

ekfld izxfr & gMZ ,dkmUV] Ik'kq iztuu iz{ks=] dkylh
ekg % Qjojh] o"kZ % 2023&24

Ø-la- fooj.k
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tUe
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dz;
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EkR̀;q
Ekkg esa 
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izf'k{k.k gsrq  

forfjr

LFkkUrfjr@ 
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¼df̀"k iz{ks=ksa 
gsrqa½

ekg ds vUr esa 'ks"k 6-
(7+8+9+10+11)

flU/kh

dqy flU/kh

जसŎ

कुल जसŎ

,p0,Q0

कुल

lkghoky

कुल lkghoky

fxj

कुल fxj

Fkkjikdj

dqy i'kq 

flU/kh ¼izf'k{k.k dsUnz dkylh½

;ksx¼A½
lkghoky ¼izf'k{k.k dsUnz dkylh½

;ksx¼C½

;ksx¼B½
tlhZ ¼izf'k{k.k dsUnz dkylh½

कुल flU/kh@flU/h 
@lkghoky¼A+B+C+D½

egk;ksx

;ksx

,p0,Q ¼izf'k{k.k dsUnz dkylh½

;ksx¼D½


